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Adaptive fuzzy controller for strict-feedback nonaffine nonlinear systems
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Abstract: A robust adaptive fuzzy control scheme is presented for a class of strict-feedback nonaffine nonlinear systems
with external disturbances based on backstepping approach. The proposed approach is only requires the approximation
errors of fuzzy systems norm-bounded, and an additional adaptive term is employed to compensation approximation errors
and disturbances. The designed scheme guarantees that all the signals in the closed-loop system are bounded and the tracking
error is uniformly asymptotically stable. Rossler chaotic system is presented to illustrate the feasibility and effectiveness of
the proposed control technique.
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